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1P 0 300 300 * % %k k % 300
2 ER 430 600 1,973 570 2,543
EAN i1 |E3BE-O 902 943 430 1,000 2,373 570 2,943
EIHME-Q 430 1,300 2,673 570 3,243
FARME 700 1,800 3,443 570 4,013
1 ERFE 0 300 300 * % %k k ok 300
2R 430 600 2,053 570 2,623
ENE2 [B3BmB-O 979 1,023 430 1,000 2,453 570 3,023
E3HM-Q 430 1,300 2,753 570 3,323
FEAERRE 700 1,800 3,523 570 4,093
1P 0 300 300 * % k * % 300
2 ER I 430 600 2,121 570 2,691
EA &3 |E3mE-O 1,044 1,091 430 1,000 2,521 570 3,091
EIHME-Q 430 1,300 2,821 570 3,391
FARME 700 1,800 3,591 570 4,161
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F2ELFE 430 600 2,182 570 2,752
ENEA (B3BmB-O 1,102 1,152 430 1,000 2,582 570 3,152
E3BM-Q 430 1,300 2,882 570 3,452
FEAERRE 700 1,800 3,652 570 4,222
1 ERPE 0 300 300 * % %k k % 300
2 BRI 430 600 2,244 570 2,814
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EIHME-Q 430 1,300 2,944 570 3,514
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2R 430 600 1,733 570 2,303
BEXE [#err-0 672 703 430 1,000 2,133 570 2,703
E3HM-Q 430 1,300 2,433 570 3,003
FEAERRE 700 1,800 3,203 570 3,773
£ 0 300 300 * % %k k % 300
2 ER R 430 600 1,902 570 2,472
BEXED [#3mr-0 834 872 430 1,000 2,302 570 2,872
EIHM-Q 430 1,300 2,602 570 3,172
FARME 700 1,800 3,372 570 3,942
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ENiE 902 X2 1,885 700 1,800 4,385 34,180 165,730
ENEE2 979 X2 2,046 700 1,800 4,546 34,180 170,560
E/iES 1044 X2 2,182 700 1,800 4,682 34,180 174,640
ENEEa 1102 X2 2,303 700 1,800 4,803 34,180 178,270
ENEES 1161 X2 2,427 700 1,800 4927 34,180 181,990
EXEI 672 X2 1,405 700 1,800 3,905 34,180 151,330
EXEI 834 X2 1,743 700 1,800 4,243 34,180 161,470
*F DO F FAME--- RYBARENE-EERMNE+

EHUNEYT—La REEmE+EERBRTEREXIEME D
H—ERRHAEFREME I +X:0mE

* FIAME (WEICHCE=mME)
EEEREEEEIIEMED
-H—E R HEAFIRIENE
-REBEREME
-RERME
@R NE)T—a  EEME

-RREHAARZANE

-EFEMEMEFNRAEZANE
=350 NE
NEBEELERENE I
MR EHEERTINE T

* ZDHH &
“FRGER (ZAHE)

RER R AR

BT ERRRERESE

EYiAEP

BICETRENELET,

X =

aits JE

AEEHFHDAIF,

51841/1H
22B41/1H
24B{41/1H
8EA{L/1[g]
24057 /1[8]
90Eifii/1H
1208 4z/18
184Bi4L/ 1B
Pt 7€ BA ST $00D 7.5%
108447/ A

1,200/8 (FB{F&700M%=&L)
50M/H (1#%)

REEICERBESNTWSAEREZEMNMABIC
EXIWLTECEBE - BREEDLRICHEVET  FLEMIOVWTEIELEDEELLGDA




